TRERT,
FRLESHESTH

®  ACEJZ

(mm) f

AC10 AC1000 4

AC20 AC2000 14 ! !
AC25 AC2500 14

AC30 AC3000 14

AC40 AC4000 18

AC40-06 | AC4000-06 18

AC50 AC5000 18

AC55 AC5500 18

AC60 AC6000

AC202 AR20 AR20K AW20
AW20K AWM20 AWD20

AC250 AR25 AR25K

AC300 AR30 AR30K AW30
AW30K AWM30 AWD30
AC402 (-06) AR40(-06)
AR40P-580AS | AR40K(-06) AW40(-06)
AWA0K(-06) AWM40 AWD40

AR20P-580AS

AR25P-580AS

AR30P-580AS




FRAELE A RIHIRL

e MR TTE N
a/E 75 EROZ | =5k R i HEEE TR E MENBEE
AF AR AL AW AFM
AF+AR+AL AC10 M5x0.8 AF10 AR10 AL10
AC20 g - 1/a AF20 AR20 AL20
AC25 /4 -3/8 AF30 AR25 AL30
AC30 /a4 -3/ AF30 AR30 AL30
AC40 a3/ - 1/2 AF40 AR40 AL40
AC40-06 3/a AF40-06 AR40-06 AL40-06
AC50 3/4 -1 AF50 AR50 AL50
AC55 1 AF60 AR50 AL6BO
AC60 1 AF60 AR60 AL60
AW+AL AC10A M5x0.8 AL10 AW10
AC20A g - 1/a AL20 AW20
i ’“gm AC30A /4 - 3/g AL30 AW30
I ACA0A |vs % 2 AL40 AW40
AC40A-06 3/a AL40-06 AW40-06
AF+AR AC10B | M50.8 | AF10 AR10
AC20B g - 1/a AF20 AR20
AC25B /4 - 3/g AF30 AR25
- ':";'l AC30B /4 -3/g AF30 AR30
AC40B 4 -3/g - 1/2 AF40 AR40
AC40B-06 3/4 AF40-06 AR40-06
AC50B 3/4 -1 AF50 AR50
AC55B 1 AF60 AR50
AC60B 1 AF60 AR60
AF+AFM+AR AC20C g 1/a AF20 AR20 AFM20
AC25C /4 -3/s AF30 AR25 AFM30
AC30C 1/a-3/s AF30 AR30 AFM30
AC40C (V/a-B3/s- /2 AF40 AR40 AFM40
AC40C-06 3/a AF40-06 AR40-06 AFM40-06
AC20D g - 1/a AW20 AFM20
AC30D /4 -3/g AW30 AFM30
AC40D |'/a-3/s- /2 AW40 AFM40
AC40D-06 3/4 AW40-06 AFM40-06
B %
BFRLZSASTH BESEE=S WhE=S
SRR + BUER + HERR =R R HEE
ACTO™B0 e P.@—15-1  AFT0760 ..o P.@-15-22  AL10"60 ..o P.@-15-48
An;fc,jfﬁg:?;,ﬁi%%% ..................... b 15 s ggiﬁ‘;gﬁ ........................................ P.@-15-27 gg}fémﬁh—:lﬁ
=S + R APMZ0 =30 40 o Po®-15728  AW10740 P.@-15-54
AC10B™60B ... P@-15-7 MEABE e b @ 1520
SEHEE + MBS EE +HE AFD20 - 30 < 40 ..o RO=TB-81 e s
AC20C™H0C . P.O-15-9 ot o a0 e b @ 1580
R p@—t5-11 TUEM REIRHE S BB — 12
~ ARTOT60 .o P.@-15-35  AWM20740 oo P.@-15-64
iz Ihi) oo TTHIAEE o P@-15-40 REMMES BB
Wi - LR HR AT 8 ML 1 AWD20740 ..o P.@-15-68
TTHIAAE oo P.@-15-20 AR20K-60K P @_15-41




SHEET

#
TRIIESS +BUER - HERS

AC10~60

H}
/.

pade

P.®-15-20
JIS FIEATF S
PNIEPN

[ el IR
T IER IR % &

AC10 AC20 AC25 AC30 AC40 AC40-06 AC50 AC55 AC60

AF10 AF20 AF30 AF30 AF40 AF40-06 AF50 AF60 AF60

AR10 AR20 AR25 AR30 AR40 AR40-06 AR50 AR50 ARG60

AL10 AL20 AL30 AL30 AL40 AL40-06 AL50 ALG60O AL60

1/g 1a Y4 va 3 3/a
3/8 /4
M5X0.8 s 3 3 s 1 1 1

/16 /g 1/ /8 1/a s 1a 1/4 g

1.5MPa

1.0MPa

0.05 0.7MPa 0.05 0.85MPa

2) 0.05MPa { 0.10 /min(ANR) }

5~60 ( )

50m

1 (1SO VG32)

/

(kg) 0.27 0.73 0.91 1.00 1.74 1.95 4.17 4.25 4.34

|

1) (AC20~AC60)
2)AC10

/
AC10 AC20 AC25 AC30 AC40 |AC40-06 | AC50 AC55 AC60
O e G27-10-R1 | G36-100 01 | G36-10-01 01 | G36-10-01 01 | G46-10-11 02 | G46-10-0) 02 | G46-10-01 02 | G46-10-01 02 | G46-10-1 02
' D) — GC3-10AS |GC3-10AS|GC3-10AS|GC3-10AS |GC3-10AS |GC3-10AS |GC3-10AS |GC3-10AS
0opa 9627-10-R1 | G36-2-1 01 | G36-2-0 01 | G36-2-0 01 | G46-2-0 02 | G46-2-01 02 | G46-2-01 02 | G46-2-01 02 | G46-2-01 02
D) GC3-2AS | GC3-2AS | GC3-2AS | GC3-2AS | GC3-2AS | GC3-2AS | GC3-2AS | GC3-2AS
9 N.O. — AD38 AD38 AD48 AD48 AD48 AD48 ADA48
N.C. AD17 AD27 AD37 AD37 AD47 AD47 AD47 AD47 AD47
Y100 Y200 Y300 Y300 Y400 Y500 Y600 Y600 Y600
3 AKM2000-5 2AKM3000-5 2| AKM30002 S AKM4000-08] — — - -
B IS1000M-201S1000M-30{1S1000M-30|1S1000M-40|1S1000M-50 1S1000M-60|1S1000M-60 | 1S1000M-60
3T Y110-M5 | Y210-00% | ¥310-5% | Y310-C% | v410-0% | v510-0% | Y610-2% | Y610-C% | v610-C 2
5 3 VHS2000-- %[VHS3000-] Z[VHS3000-1 [ VHS4000-%|  — — = =
D) E100-M5 | E200-7¢ | E300-08 | E300-t0 E4oo-g§§ E500-006 | E600-2% | E600-2% | E600-2%
ool 002 o2 o 02
D) ISI000E-20; &2(IS1000E-30- &IS1000E-30- B ISIO0OE40°2|  — — — —
64 Y14-M5 Y24-5%; Y34-58; Y34-5% Y44-5% Y54-083 - - -
1) [m] R NPT N O
NPT PSI
Q 210 2
3) 1.0MPa
4) ,N.O. :0.1MPa; N.C. :0.15MPa

PSI °F

5) ()
6)

@ -15-1




( 0.7MPa
AC10 M5x 0.8 AC40-06 Rc 3/4
0.6 0.6
—
05 | . 0.5 ———
§ 04 —— — % 0.4 —
) — ) ——
03 —— ~ 03
\ I
0.2 — ~ 0.2 =]
~— N — AN
0.1 S 0.1 —~
M~ N N \
% 25 50 75 100 125 150 % 1000 2000 _ 3000 _ 4000 5000
2/min (ANR) 2/min (ANR)
AC20 Rc1/4  AC50 Rc 1
0.6 0.6
05 05 I~
~—|
=04 — | So4 —~— T
0.2 ————— 0.2 \\\\\
0.1 0.1\ \ \
~
I — ™~
% 200 400 600 800 % 2000 4000 6000 _ 8000 10000
2/min (ANR) 2/min (ANR)
AC25 Rc3/8 AC55 Rc 1
0.6 0.6
t60.5 0.5 I~
£ . T~ — | ., ——
: so.
—
0.3 03
T—
0.2 02 I
0.1 0.1 \
% 500 1000 1500] % 2000 4000 6000 _ 8000 10000
2/min (ANR) 2/min (ANR)
AC30 Rc3/8 AC60 Rc 1
06 0.6
\
05 05
o — o
S 04 —— S04 —
\ \
03 = 03 — -
\\
02 02 E—
—_—
0.1 0.1
\\ \
% 500 1000 1500] % 2000 4000 6000 8000 10000
2/min (ANR) 2/min (ANR)
AC40 Rc 1/2
0.6 c
< 05
o
= — - ]
03 ——
— A
02
01 —
' — 1
% 1000 2000 3000
2/min (ANR)

=aaazrt AC10~60
]
A
(IN )™ 7

- ]
A

O
N.O.
. 0.75KW(1002/min(ANRY))
2 2
0.75kW 2
L5KW  (2000/min(ANR)
. 01MPa O
N.C.
«AD17 27 0.1MPa
AD37 47 0.15MPa
IN
3
O
T
(AKM )
IN 3
EXH
3 ouT

5um

@ -15-2



AC10~60

( ) : 0.7MPa 0.2MPa 202/min(ANR)
AC10 AC40-06
03 025 I
o / ]
Q 025 i \\ — & A
= ] \\ = ] — /
1 P
1 \ ~ 02)
1 =
02 |
1 ~ ]
o NG 015
T 0T
%5%2 03 04 05 06 07 08 09 10 02 03 04 05 06 07 08 09 10
MPa MPa
AC20 AC50
e [T [
0. “1 I i O.25< I
g s |
= A ]
—_— > —_—
02 — - 02 =
- 4
0.15 015
06%2 03 04 05 06 07 08 09 10 96%2 03 04 05 06 07 08 09 10
MPa MPa
AC25 AC55
o [ |
025 — 025 i
&U 4 4
s $
1 —_ = | =
0. - 0.2
| — | —
0.15 015
9%%02 03 04 05 06 0.7 08 09 1.0 90%2 03 04 05 06 0.7 08 09 10
MPa MPa
AC30 AC60
e [ [
029 I 02s| i
s |
[ s
s | — /] s -~
0= = 02] —
4 —— 4
0.15 015
90%02 03 04 05 06 0.7 08 09 10 90%2 03 04 05 06 0.7 08 09 1.0
MPa MPa
AC40
|
(s} 4
o- 4
=
| - -
0.2
| —
0.15
90%02 03 04 05 06 07 08 09 10
MPa

@ -15-3




b=y

e =

=aaxz# AC10~60

AC10-20 _ A —
M
O
IN Ty jouT
-
: m
K
— L. N
t
)
AC25-30-40-50-55-60 A
E . E
IN_ : ouT s
1 ( )
! : C
L N
la)
(N.O./N.C.) (N.C.) /
0 m m m m
\.M5x0.8
1/4 vV
AC10,AC20 17 T0604
A DDZlE F [OG [OH J K L oL | M N P Q |[0DT |OB
AC10 M5x0.8 087 [J8 [126 [050 128 [1 31 (025 |J20 27 |07 4.5 45| 28 | 40 26 |0— |00 0104
AC20 s Ya 1126 (0123 36 [0 80 H415[ 43 |[030 (024 33 |2 55 55| 3.2 | 50 65 |129.5 | Y2 |O0141
AC25 Ys g (167 [J153 [138 [0 80 U55 [J 57 (041 |J35 — |4 7 7 4 71 64 |[128.5 |00 0194
AC30 Ya 3lg 0167 [1153 [138 [1 80 [155 57 |[041 |[035 | — |4 7 7 4 71 66 |[130.5 [03.5 | 0194
AC40 Ya- 3lg- Y2 0220 [0187 [0 40 [J105 [J72.5[0 75 |[050 |040 — | [18 9 9 4 88 74 |35 |03.5 | 0226
AC40-06 3/a (1235 [1187 [138 [1105 [177.5[1 80 |050 |[040 | — |18 9 9 46 | 88 74 |B5 |03 0226
AC50 34 1 (1282 [J264 [143 [1105 (193 [1 96 (070 |J50 — |0 |11 11 6.4 |115 84 |44.5 |03.3 [0303
AC55 1 1292 [1279 45 [J105 [198 96 |0 70 |050 — |20 |11 11 6.4 |117.5| 84 |044.5 |03.3 [[O318
AC60 1 (1297 [1280 [J 46 [1105 (J98 [1101 |070 |050 | — |20 |11 1 6.4 |117.5| 84 |445 |03.3 |0318
2) 1) AC20
2) (
B
B BO 0 BO B V
AC10 — —0 0 85 — —
AC20 — —0 123 — _
AC25 161 160 0 166 186 38
AC30 161 160 166 186 38
AC40 195 194 0 200 220 45
AC40-06 195 194 200 220 45
AC50 272 271 0 276 296 45
AC55 287 286 292 312 45
AC60 288 287 0 293 313 45

@ -15-4



=Bt

ERER +

ACI10A ~40A

der

P.®-15-20
= 1 JIS EKAF S
i
AC20A
AC10A AC20A AC30A AC40A AC40A-06
AW10 AW?20 AW30 AW40 AWA40-06
AL10 AL20 AL30 AL40 AL40-06
1
/
M5X0.8 e a B ¥,
Ya 3/g 1/,
D 116 g g on N
1.5MPa
1.0MPa
0.05~0.7MPa 0.05~0.85MPa
2) 0.05MPa { 0.12/min(ANR) }
5~60 ( )
5um
1 (ISO VG32)
/
(kg) 0.20 0.59 0.75 1.41 1.46
— — @ @ @
1) (AC20A~40A)
2)AC10A
/
AC10A AC20A AC30A AC40A AC40A-06
1 oMPa G27-10-R1 G36-10-0 01 | G36-10-001 | G46-10-002 | G46-10-0 02
N ' 2 — GC3-10AS GC3-10AS GC3-10AS GC3-10AS
0.2MPa 9 G27-10-R1 G36-2-0 01 G36-2-0 01 G46-2-0 02 G46-2-0 02
' 2 — GC3-2AS GC3-2AS GC3-2AS GC3-2AS
4 N.O. — — AD38 AD48 AD48
N.C. AD17 AD27 AD37 AD47 AD47
Y100 Y200 Y300 Y400 Y500
o — AKM2000- 5% | AKM3000-C% | AKM4000-C% —
6 — 1S1000M-20 1S1000M-30 IS1000M-40 IS1000M-50
3T Y110-M5 Y210- 5% Y310-© Y410-6%) Y510-¢%)
R) 3 — VHS2000-2% | VHS3000-2% | VHS4000-73 —
002
D E100-M5 E200-7 5 E300- - E400-5%; E500-11 06
0 06
o 002
D) — IS1000E-20 5 | 1S1000E-30 % | IS1000E-407% —
o 0 006
54 Y14-M5 Y24-59 Y34-50 Y44-59 Y54-00
1) 0 R NPT N O 4) N.O. :0.1MPa; N.C. :0.15MPa
NPT PSI PSI °F
2) 10 2 5) )
3) 1.0MPa 6)

@ -15-5




=aasxt AC10A~40A

AC10A-20A

[ ]

ol

H

TLG..G

AC30A-40A A

(N.O.N.C.)

AC10A- AC20A

010tk E K
A B © D E F G H J K | oK | L M N P | Q B
AC10A M5x0.8 56 | 108 | 48 | 50|28 25 | 20 | 27 7 |45 |45 |28 |40 | 26 | — | O 126
AC20A Yg- Ya 83 |160| 73 | 80|415| 30 | 24 | 33 |12 |55 |55 |32 |50 | 63 [27 |5 177
AC30A Ys- 38 110 | 201 | 86 | 80|55 41 | 35 | — |14 | 7 7 4 71 | 66 | 30.5| 3.5 242
AC40A Ya- Sg- Y2 | 145 | 239 | 92 | 105|725 50 | 40 | — |18 | 9 9 4 88 | 76 |38.5]| 1.5 278
AC40A-06 34 155 | 242 | 93 | 105|775 50 | 40 | — |18 | 9 9 46 | 88 | 76 | 385| 1.2 278
1) Q 1) ( )
B

B B B B u

AC10A — — 107 — —

AC20A — — 160 — —

AC30A 209 208 214 234 38

ACA40A 247 246 251 272 45

AC40A-06 250 249 255 272 45

@ -15-6



SEA

H}
/.

A

&
TRIIE=E +BER

10B~60B

der

P.®-15-20

S EIBAE
o1

SR R

AC10B | AC20B | AC25B | AC30B | AC40B | AC40B-06 | AC50B | AC55B | AC60B
AF10 AF20 AF30 AF30 AF40 AF40-06 AF50 AF60 AF60
AR10 AR20 AR25 AR30 AR40 | AR40-06 | AR50 AR50 AR60
1 1 1 /4 3
M5x0.8 % /4 /4 7, 3 /4
/4 3/8 3/8 1;2 /4 1 ! !
D /16 /s /s /s /4 /4 /4 /4 /4
1.5MPa
1.0MPa
0.05~0.7MPa 0.05~0.85MPa
2) 0.05MPa { 0.1/min(ANR) }
5~60 ( )
5pm
/
(kg) 0.16 0.51 0.55 0.63 1.12 1.16 2.44 2.45 2.54
\ — — o ° o ° ° ° °
Q 1) (AC20B~60B)
2)AC10B
/
AC10B | AC20B | AC25B | AC30B | AC40B |AC40B-06 | AC50B [ AC55B | AC60B
) G27-10-R1G36-10-0 01]G36-10-7 01]|G36-10-0 01(G46-10-0 02|G46-10-0 02|G46-10-0 02|G46-10-0 02|G46-10-01 02
10MPaj — GC3-10AS | GC3-10AS | GC3-10AS | GC3-10AS | GC3-10AS | GC3-10AS | GC3-10AS | GC3-10AS
9627-10-R1 | G36-2-0 01| G36-2-0 01 | G36-2-0 01 | G46-2-01 02 | G46-2-01 02 | G46-2-01 02 | G46-2-01 02 | G46-2-0 02
0.2MPa[™> — GC3-2AS | GC3-2AS | GC3-2AS | GC3-2AS | GC3-2AS | GC3-2AS | GC3-2AS | GC3-2AS
Q) N.O. — — AD38 AD38 AD48 AD48 AD48 AD48 AD48
N.C. | AD17 AD27 AD37 AD37 AD47 ADA47 AD47 AD47 AD47
Y100 Y200 Y300 Y300 Y400 Y500 Y600 Y600 Y600
D —  [1S1000M-201S1000M-30|1S1000M-30 |IS1000M-40 [IS1000M-50 |IS1000M-60 | 1S1000M-60/|IS1000M-60
5)
o1 Y110-M5 | Y210-{&%,| Y310-G8 | Y310- G| Y410-C% | Y510- G | Y610- 6 | Y610-C8 | Y610- G5
) 3 —  |VHS2000+ % VHS3000- %2 VHS3000-2 %2 V|-|s4ooo§§§1 — — — —
D) E100-M5 E200-3§§ Esoo-§§§ Esoo-§§§ E400--% |E500-m06| E600-2% | E600-% | E600-2%
o [m] 0 J 06
02
) —  IS1000E-20" %{1S1000E-30" 1S 1000E-30" IS 1000E-407 &3 — — — —
003 004 004 006
94 Y14-M5 | Y24-0% | Y34-09% | Y3428 | Y4402 | Y54-0% — — —
1) O R NPT N O
NPT PSI
2) 1 0 2
3)1.0MPa
4) ,N.O. :0.1MPa;N.C. :0.15MPa
PSI°F

5)
6)

0

@ -15-7




=qaaz#t AC10B~60B

AC10B-20B —A
<—eﬂ Z
o
IN ! OUT,
X Ol

!
AC25B°3OB°4OB'50§°5550608

F %_} - E— P E
I Q- !
IN i ouT_ i i ZN %
I F ST
i : wj
Eé J —+ “ ( ) *Lé
( )
} DT M
(N.O./N.C.) (N.C)) /
@ m m o ; m
\M5x0.8 — — v v
Ya Vi
AC10B,AC20B 17 T0604
Al B ¢ b E F| G H J K | @K | L M N P Q T |0 B
AC10B M5x0.8 56 | 71| 11 50| 25 |28 20 | 27 7 | 45| 45|28 | 40 |135]| 26 - |0 89
AC20B g s 83 | 114 | 265| 80| 30 |415| 24 | 33 | 12 | 55| 55|32 | 50 25| 65 | 295 D2 | 132
AC25B Ys. 3Yg 110 | 143 | 28 80| 41 |55 35 | - |14 | 7 7 |4 71 |13 64 | 285| 0 184
AC30B Ys 3fg 110 | 146 | 31 80| 41 |55 3B | - |14 | 7 7 |4 71 |10 66 | 305| 35| 187
AC40B Ya. Sfg. Y2 | 145 | 183 | 36 | 105 | 50 | 725 | 40 | - 18 | 9 9 |4 88 |12 74 |35 35| 222
AC40B-06 34 155 | 185 | 36 | 105 | 50 |775| 40 | — | 18 | 9 9 |46 | 88 |12 74 | 35 3 224
AC50B 34 1 186 | 264 | 43 | 105 | 70 |93 50 | - | 20 |11 |11 6.4 |115 |16 84 | 445| 33| 303
AC55B 1 191 | 277 | 43 | 105 | 70 |98 50 | — |20 [11 |14 6.4 |117.5| 16 84 | 445| 33| 316
AC60B 1 196 | 280 | 46 | 105 | 70 |98 50 | - | 20 |11 |11 6.4 |117.5] 13 84 | 445] 33| 319
2) Q 1) AC20B
2) ( )
B
B B B B Y
AC10B - - 70 - -
AC20B = = 114 = =
AC25B 151 150 156 176 38
AC30B 154 153 159 179 38
AC40B 191 190 196 216 45
AC40B-06 193 192 198 218 45
AC50B 272 271 277 297 45
AC55B 285 284 290 310 45
AC60B 288 287 293 313 45

@ -15-8



H}
/.

A

SHEET

*
TRIIER + HEDEER + BUER

20C~40C

der
ade

P.®-15-20

JIS FIEATF S

LIRS B LR
AC20C AC25C AC30C AC40C AC40C-06
AF20 AF30 AF30 AF40 AF40-06
AFM20 AFM30 AFM30 AFM40 AFM40-06
AR20 AR25 AR30 AR40 AR40-06
i/a s Y ;;g 3,
I 3s 3g 1,
D Yg s /s s Yy
1.5MPa
1.0MPa
0.05MPa
0.05~0.85MPa
2 2/min(ANR) 200 450 \ 450 | 1100 1100
+0.05MPa { 0.14/min(ANR) }
5~60
AF:5um _AFM: 0.3um(95%  #ifg)
2 3 Max1.0mg/m3(ANR)( = 0.8ppm)
/
kg 0.74 0.88 0.95 1.76 1.83
— @ o [ ) o
Q 1) (AC20C~40C)
2) 0.7MPa 0.5MPa 3) 30mg/m3(ANR)
/
AC20C AC25C AC30C AC40C AC40C-06
G36-10-0 01 | G36-10-001 | G36-10-001 | G46-10-002 | G46-10-0 02
D 1.0MPa =) GC3-10AS GC3-10AS GC3-10AS GC3-10AS GC3-10AS
0.2MPa G36-2-0 01 G36-2-0 01 G36-2-0 01 G46-2-0 02 G46-2-0 02
Q) GC3-2AS GC3-2AS GC3-2AS GC3-2AS GC3-2AS
0 N.O. AD38 AD38 AD48 ADA48
N.C. AD27 AD37 AD37 AD47 AD47
Y200 Y300 Y300 Y400 Y500
5) 1S1000M-20 1S1000M-30 1S1000M-30 1S1000M-40 1S1000M-50
oT Y210- S8 Y310- ©% Y310- ©% v410- €% Y510- §%2
o) 3 VHS2000-5% | VHS3000-3% | VHS3000- 5% | VHS4000- 56
o) E200- o0 E300- - 03 E300- £ 03 E400- 0% E500-01 06
003 004 004 006
) |51000E-2o§§§ |310005-305§§1 |51000E-30§§§ IS1000E-40
5 4 Y24- 0o Y34- S0 Y34- o Y44- 2% Y54- 504
Q 1) 0 R NPT N NPT PSI
2) 1 0 2
3) :N.O. :0.1MPa; N.C. :0.15MPa PSI °F

4) 0




saazrt AC20C~40C

K}

AC20C _ A
e<‘ o
N TR | our
I [ \\
! I paee=
| !
AC25C+30C+40C )
E F

&
58

(N.O.N.C.) (N.C)
TN
| m m
(L )
N.O.: FiS \M I 7
510 AC10C,AC20C 17 .
Iﬁ I:IB EIC DD DE [OF [OG [OH [J K L oL M N P Q T W OB
AC20C Yg. Ya 126 | 114 | 26.5| 80 |41.5| 43 30 24 33 | 12 55| 55|32 |50 |25 65 |29.5 | L2 132
AC25C Y4 3g 167 | 143 | 28 80 |55 57 41 35 — 14 | 7 7 4 71 13 64 | 285 | 0 184
AC30C Ya- 3g 167 | 146 |31 80 |55 57 41 35 — 14 | 7 7 4 71 10 66 |30.5| 35 | 187
AC40C Ya- 3lg- Y2 | 220 | 183 | 36 105 |725| 75 | 50 | 40 — 18 | 9 9 4 88 | 12 74 |35 3.5 | 222
AC40C-06 34 235 | 185 | 36 105 |77.5| 80 50 | 40 — 18 9 9 4.6 | 88 12 74 | 35 3 224
2 Q 1) Ac20C
2) ( )
B
B B | B B v
AC20C - — 114 — —
AC25C 151 150 156 176 38
AC30C 154 153 159 179 38
AC40C 191 190 196 216 45
AC40C-06 193 192 198 218 45

@ -15-10



=SHATH

SIERER  HE S
ACZ20D*30D+40D

der

P.®-15-20

JIS EIEFTS

0

-_— e
0 1
AC20D MERIER B
AC20D AC30D AC40D AC40D-06
AW?20 AW30 AW40 AW40-06
AFM20 AFM30 AFM40 AFM40-06
e Ha o
/ 3
s 3/g 1/2 fa
D g /g a Ya
1.5MPa
1.0MPa
0.05MPa
0.05~0.85MPa
2 ¢/min (ANR) 150 330 800 \ 800
+0.05MPa { 0.14/min(ANR) }
5~60
AW: 5um AFM: 0.3,m(95% )
2 3) Max1.0mg/m*(ANR) (= 0.8ppm)
/
kg 0.57 0.74 1.38 1.43
— ° o [
1) (AC20D~40D)
Q 2) 0.7MPa 0.5MPa
3) 30mg/m3 (ANR)
/
AC20D AC30D AC40D AC40D-06
L oMPa G36-10-0 01 G36-10-0 01 G46-10-0 02 G46-10-0 02
) ' 2 GC3-10AS GC3-10AS GC3-10AS GC3-10AS
0.2MPa G36-2-0 01 G36-2-0 01 G46-2-0 02 G46-2-0 02
2 GC3-2AS GC3-2AS GC3-2AS GC3-2AS
3 N.O. AD38 ADA48 AD48
N.C. AD27 AD37 AD47 AD47
Y200 Y300 Y400 Y500
5 1S1000M-20 1S1000M-30 IS1000M-40 IS1000M-50
a7 Y210- &, Y310-E% Y410- 56 Y510- 57
002
5) 3 VHS2000-7% VHS3000-2 % VHS4000-0 %
002
5 E200- 02 E300- 05 E400-58 E500-0 06
003 004 006
o2
9 ISLO00E-20¢ 02 ISL000E-305 % IS1000E-405
0 06
5 4 Y24-5% Y34-3% Y44-3% Y54-5%
1) O R NPT N NPT PSI
2) 1 0 2
3) :N.O. (0.1MPa);N.C. (0.15MPa) PSI °F




27

axtt AC20D*30D40D

AC20D = A
s &
IN_ oM | oUT
o0 %
J
7
{ |
A
AC30D+40D E N F
|
Tl |
o Q
/ - (D]
INf v ﬂ:——ﬂ | OUT @
o =~ -
LI LI lel .|1 | o
—1) ( 1 -
- M %3 | e
— |
o |
T Y
[a)
i ] % m} ]
1/4 ‘ U
AC10D,AC20D 17
A BB RCHD Y r Tme [n [J K |ek| L EM ONDP FO 0B
AC20D /s /4 | 83 0160 073 [0 50 | 415|030 |024 | 33 | 12 | 55 | 55 | 32 050 |[063 |27 (5 |0177
AC30D i/, 3/s | 110 |0201 [086 D80 |55 |041 035 | — |14 |7 |7 |4 D71 |06e6 [B0.5 135 |0242
AC40D | /4 3/s. /2| 145 |0239 [192 [0105 | 725|050 |040 | — | 18 |9 |9 | 4 (188 176 B85 115 |1278
AC40D-06 3/4 155 |0242 [0 93 [J105 | 77.5 [0 50 |40 — 18 9 9 4.6 88 |076 [1B8.5 [:|1.2 0278
) Q 1) 5 ( )
B BD BO B U
AC20D — —0 160 — —
AC30D 209 208 214 234 38
AC40D 247 246 251 272 45
AC40D-06 250 249 255 272 45

@ -15-12



=SEA T

I AC 7

Mt R %

M5x 0.8 Ys. 1a. 3fg. 2. 3)s. 1

]HF -
FRL.
LAl Lo |
> AlB | D
E100-M5 | M5x 0.8 | 10 |14 | 14 |ACL00. AWLO AF10 ARLO AL10
E200001] s AC200
E200002| s 30 |235| 28 |AF20 AR20 AW20
£2000 03| AL20 AFM20 AFD20 AWM20 AWD20
E300002| Y4 AC2501- AC300)
E300003| 3/ 32 |30 | 30 |AF30 AR30 AW30
300004 1, AL30 AFM30 AFD30 AVIM30 AWD30
E400-0 02 s AC400
E400-0 03 3/g AF40 AR40 AW40
E4000 04| 1/, 82136 | 36 |, 40 AFM40 AFDAO
E4000 06| 3/, AWM4O AWDAO
ACAOCT -06 AFA0-06 AR40-06 AVI40.06
ES00006) 3y, 32 140 1 44 1 1006 AFMA06 AFDA006
E600-006| 3/ a5 |48 | 53 |ACSD ACSS ACHD ACSOB ACSSB ACHIB
E6000 10| 1 AFS0 ARS0 ALS0 AFS0 ARG AL6D
1) [u] Rc NPT NG F
2)
T (M) e
M5x 0.8 1s. s 3fs. 1/2
T E
‘ ]
| S =
H 1 FRL.
[
A D
AlB|]CI|D]JE
Y110-M5 | M5x 0.8 | 11 | 19 | 12 | 14 | 8 |AC10 AC10B
Y2100 01| g AC20 AC20B
15 [ 42 | 32 | 28 | 19
Y2100 02| 1, AR20C
N 1 AC25 AC25B
3100 01 I8 15 | 53 | 39 | 30 | 19 |AC25C AC30
Y310-0 02 1, AC30B AC30C
Y4100 02| 1, ACA40 ACA0B
19 [ 62 | 44 | 36 | 24
Y4100 03| 3 AC40C
Y5100 02| Y, AC40-06 ACA0B-06
19 | 66 | 46 | 44 | 24
Y510-0 03 3g AC40C-06
¥ 3 AC50 AC55
IN AKM Y610003| % | 55 | g1 | 57 | 53 | 30 |AC60 AC50B
Y6100 04 1/2 AC55B AC60B
1) o Rc NPT NG F
2)
AC 7

@ -15-13



- (P)

mres AC Z Jlf

1.0MPa

0.7MPa

(OFF )

0.1 0.4MPa

0.08MPa

5 60 ( )

la

AC2VA DC2W

AC DC

100V

AC DC12V 24V:50mA
AC DC48V:40mA
AC DC100V:20mA

A D
E 23 3
Bl %
] L
O
I M |
I
FRL
D A|B | C |D]|E
ISI000E-2001 01| 1/g AC200
IS1000E-200 02 1/, | 30|68 |57 |28 |16 |AR200- AW200

IST000E-200 03| 3/

AWM20 AWD20

IS1000E-300 02| 1/,

IST000E-3001 03| 3/g

IS1000E-3001 04] 1/,

32

74.5/60.5( 30 |13

AC250- AC300
AR250- AR300- AW300
AWM30 AWD30

IS1000E-400 02| 1/,

IS1000E-400 03| 3/

IST000E-400 04| 1/,

IS1000E-400 06| 3/4

32

2

80.5(62.5| 37 |12.5| AC400

AR400- AW400
AWM40 AWD40

1) O Rc NPT NG F
2)AC400 -06 AWA40C -06
3)
AC400 -06 AW400 -06 E500-01 06-
X501 E600-0 06 10-X501( Rc1/8 ) 1S1000-01
X201 3m
X2020] 0.1-0.6MPa
X215 3m :0.1~0.6MPa
X250 ( )
200 AC20 X251 8m ( )
300 AC25 AC30 X2520 - 01 0.6MPa ( )
m
40 |AC40-02 04
L 01 0.6MPa ( )
Rc
N NPT
F G
01 g
02 14
03 3/g
04 1/
06 3/a

@ -15-14




AC &3l

. (K) RcY/s s %/s

A
|
o / | \
B . I
e oAl
I
E .
/
L I!
; I
IN _ © B _]!___L______ _ out
| L
(mm?) i i
AKM2000 28
AKM3000 55
AKM4000 111 A|B|C|D]|E
QQLOUT AKM2000 | /8- Y4 | 40 | 40 | 28 | 11 | 11 AC20- AC20A
AKM3000 | Y /s | 53 | 48 | 34 | 14 | 13 | AG30. Acaoa
AKM4000 | Ya- 3/s | 70 | 54 | 42 | 18 | 15 | DAC40- AC40A

)AC400 -06
AC pP. -15-1 P. -155

AI?M 30|00 |01

20 | s 01 | Y
30 | %8 02 | Y,
4 | Y2 03 | 3

Rc

N NPT

F G

@ -15-15



meas AC Z Fl

EHFX: (S)
HOVEL PRI T X O (BRI R .

O |
r °
JISEESf = TW
|
lUl : FR.L.
T 1 AL
A D
g Beg A|B|C|D| @Fams
(i 7R B IS1000M-20 | 11 |76 |66 28 AC20[]
TR I ) 1 OMPa IS1000M-30| 13 |86 |72 | 30 | AC250]-AC300]
s R S 0.7MPa IS1000M-40 | 15 |95 |77 36 AC40[]
58 i 6 (OFFIH) 0.1~0.4MPa IS1000M-50 | 17 |99 |79 44 AC40[]-06
il 0.08MPa IS1000M-60 | 22 |92.5|685| 53 | AC50.AC55 ACE0.
IIBE A5 FH i A 1 —5~60°C (R iZEEE I AC50B . AC55B AC60B
BRI A B A T IR RE bR
FER4FME
fith R AA K 1a
R filE A = AC2VA . DC2W
{i Jf1 . FEAC - DC 100VIL T
AC * DC12V~ 24V .50mA
e fd FH AL AC « DC48V .40mA
AC - DC100V.20mA

BSRTHE

IS1000M—[30|-

X201 :3m
X202[] :0.1~0.6MPa
X215 :3m :0.1~0.6MPa

2000 AC20

3000 AC25, AC30

40 |AC40-02~04

50 |AC40-06

60 |AC50, AC55, AC60

@ -15-16



AC &7l

: (C) M5x 0.8 1/8 1/4 3/8 1/2

Q IN OUT

E:4-Rc
F:
AlB|c]|D
Y14-M5 M5 23 | 16 | 14 | 25 |AC10 AC10A AC10B
Y24-0 01 s AC20 AC20A AC20B
voao 02 | Y. | 29| 40| 22| 40 |aco0c AC20D
- 1 AC25 AC25B AC25C
Y340 01 1/8 49 | 43 | 28 | 48 |AC30 AC30A AC30B
Y34-0 02 /a AC30C AC30D
Y440 02 s AC40 AC40A AC40B
vaao 03 | 35 | 89| 48| 36| 54 Iacaoc AcaoD
- 3 AC40-06 AC40A-06
Y5440 03 1/8 72 | 62 | 40 | 62 |AC40B-06 AC40C-06
Y54-01 04 /2 AC40D-06
1) [m} Rc NPT NG F
2)IN,OUT
o IN AKM
0 AC
3 (V)
3
3 1/8
(' VHS3000, |
4000) _JI} ’J
[Tste]
» | [
“TT0 wilIN Al L
_| [
T L
N %
JIS Z
j EXH
(mm?) A
IN-OUT | OUT-EXH
/s 10 11
VHS?2
>0 a 14 16 IN OUT | EXH
VHS3000
‘1‘/8 31 29 VHS2000 | Ys. Y g | 40 | 56 | 36 | 28 | 22 | 25
3/4 22 15 VHS3000 | Y4 3 n 53 | 74 | 45 | 48 | 28 | 30
VHS4000 /s 38 29 )VHS4000 | Ys 35 Y2| 38 70 | 80 | 48 | 54 | 36 | 30
2 57 51 ) AC4001 -06 VHS4510 5510
) IN
3 ouT T
, l
01 | 15
02 | 14
20 :/8 Rc 03 | 38
30 | s N NPT 04 | 1,
40 1 E G

@ -15-17




AC %7
Rk - FEL

H1/& am

PRt (X)

X-X
Y200 Y400
A
e A B c D ]
Yio0 | 6 | 27 | 15 33 | AC10 -AC10A - AC10B
Y200 | 3 | 355 | 185 | 48 | AC200
Y300 | 4 | 47 | 26 59 | AC2501-AC30[]
Yaoo | 5 | 57 | a1 65 | AC400]
Y500 | 5 | 61 | 33 70 | AC40T-06
AC50-AC55 -AC60
Wy e s A 86 | AC50B-AC55B -AC60B
Al R4
THES
& it Y100 Y200 Y300 Y400 Y500 Y600
T NBR | ®Y100P-060AS | Y200P-060S | Y300P-060S | Y400P-060S | Y500P-060S | Y600P-060S
Yo 2
H 0 = A -
L 2R BIBRAR: (2)
6|
{7 F.R.L
=\ ]
w © E--i: e
il 148 R
g X-X
i P
8 — N
>_. w - g C1IH
5 5 ik 1
S o I A
5 o |8 I— 1
i i Y | Al_-ii
Y200T Y400T ‘
- F= i J t—
H | K
D 1
WE | A | B [BB|[C | DJ|E EE|JF |G |eG|H]J]K BEEE
Y100T| 6 | | 56 | 245 | 405| 20 | 27 | 68| 45| 45| 14 | 28 | 25 | AC10])
Y200T| 3 | | 67 |29 | 53 | 24 | 33 |12 | 55| 55| 19 | 32 | 30 | AC2001
Y300T| 4 | 82| |41 | 68 | 35 14 | 7 | 7 | 21 | 4 | 41 | AC25(-AC30(]
YA00T| 5 | 96 | |48 | 81.5] 40 18 | 9 | 9 | 26 | 4 | 50 | Acaon
Y500T| 5 | 96 | |48 | 86 | 40 18 | 9 | 9 | 27 | 46 | 50 | AC40-06
Y600T| 6 | 120 | — |60 [112 | 50 20 |11 |11 | 31 | 64 | 70 | AC50-AC55-AC60-AC50B-AC55B-AC60B
GE:3ES
e
B G Y100T Y200T Y300T Ya00T Y500T Y600T
e NBR | ©Y100P-060AS | Y200P-060S | Y300P-060S | Y400P-060S | Y500P-060S | Y600P-060S
) o’ 2

@ -15-18



e o = 4o o sl [
LRI PR R R AL E
TR T LS
JEHFHK: S ‘
B K 5% B3 ) V
| [
| = < Jrhml <
IN ] . M’ “ | - _your IN_ | [ 1 out
_!! Ul | lII
T - < ; <
'mly, %_l rl L |l llﬁ
== ez %
L2 L3 L4 L1
B K S T v KS KT KV KST
s L1 [ L2 [ L3 | L1 |2 (L1 L2 L1 L2 L3 [l |[L2 L3 |L1 |2 L3 [L1|[L2|L3[L4 | L1 |L2]|L3
AC10 — — — — — 128 48 — — — — — — — — — — — — — — — —
AC20 [415| 43 | 43 [41.5] 43[41.5| 6141.5] 43 | 43 [41.5] 43 | 57 [41.5] 61 | 43 [41.5] 43 | 43 | 43 [41.5] 61 | 57
AC25 [55 | 57 | 57 |55 57 |55 76|55 [ 57 | 57 |55 | 57 | 74 |55 | 76 | 57 |55 | 57 | 57 | 57 |55 | 76 | 74
AC30 |55 57 | 57 |55 57 |55 76 |55 57 | 57 |55 57 | 74 |55 76 | 57 |55 57 | 57 | 57 |55 76 | 74
AC40 |72.5| 75 | 75 |72.5| 75|72.5| 99 |72.5| 75 | 75 |72.5| 75 | 95 |72.5| 99 | 75 |725| 75 | 75 | 75 |72.5] 99 | 95
AC40-06 | — | — | — 775 80|775(104] — | — | — [ — [~ [ — [ — [ - T - [T - T-—T-T-T-—"1T+
AC50 | — | — | — 193 [ 96]93 |1o4| — | — | — [ — [ — [ — | — [ — [ — [ — [ — T -1 -1 —1T-—1-
AC55 | — | — | 98 [ 96[98 (24| — | — | — [ — [ — [ — [ — [~ — [ — [T [T T -1+
Ac60 | — [ — | —Jes [101]98 J129f — [ -~ | — | - [ - [ - T - -] -[-T-T-T-T1T-T-1-
W KSV KTV KSTV ST SV STV TV
NS L1 L2 | L3 | L4 | L1 L2 | L3 | L4 | L1 L2 [ L3 | L4 | L1 L2 | L1 L2 | L3 | L1 L2 | L3 | L1 L2 | L3
AC10 — — — — — — — — — — — — — — — — — — — — — — —
AC20 |41.5| 43 | 57 | 43 |41.5| 61 | 43 | 43 |41.5| 61 | 57 | 43 [41.5]| 61 |41.5]| 43 | 57 |41.5| 61 | 57 |41.5] 61 | 43
AC25 |55 57 | 74 | 57 |55 76 | 57 | 57 |55 76 | 74 | 57 |55 76 |55 57 | 74 |55 76 | 74 |55 76 | 57
AC30 |55 57 | 74 | 57 |55 76 | 57 | 57 |55 76 | 74 | 57 |55 76 |55 57 | 74 |55 76 | 74 |55 76 | 57
AC40 |725| 75 | 95 | 75 |725] 99 | 75 | 75 |725] 99 | 95 | 75 |72.5| 99 |72.5| 75 | 95 |725| 99 | 95 [72.5| 99 | 75
AC40-06 | — = = = = = = = = = = — |77.5]104 | — = = = = = = = =
AC50 — — — — — — — — — — — — (93 |124 | — — — — — — — — —
AC55 | — | — [ - [ = =T =T -"T=T="T=T=17T=1T98 124 = [ = = [ =T -1 ="T=T1=171-=
AC60 — — — — — — — — — — — — 198 [129 | — — — — — — — — —
s K S v KS KV KSV SV
BnE L1 [ L2 [ L1 [ L1 [L2 [t 2 [t [L2 [ Lt [L2 L3 [ L1 [L2
AC20A |41.5| 43 [41.5]/41.5| 43 [41.5| 57 |41.5]| 43 | 43 |41.5| 57 | 43 |41.5| 57
AC30A |55 57 |55 |55 57 |55 74 |55 57 | 57 |55 74 | 57 |55 74
AC40A [72.5| 75 [72.5|72.5] 75 |72.5] 95 |72.5| 75 | 75 [72.5] 95 | 75 [72.5] 95
AC40A-06] — — |77.5| — — — — — — — — — — — —
ME] S | T v SV TV
S L1 L1 L1 L2 | L1 L2 | L1 L2
AC10B — |28 — — — — — —
AC20B |41.5|41.5(41.5| 43 |41.5| 57 |41.5] 61
AC25B |55 |55 |55 57 |55 74 |55 76
AC30B |55 |55 |55 57 |55 74 |55 76
AC40B [72.5|72.5(72.5| 75 [72.5| 95 [72.5] 99
AC40B-06|77.5|77.5| — — — — — —
AC50B |93 |93 — — — — — —
AC55B |98 |98 = = = = = =
AC60B |98 |98 — — — — — —
B4 S T \' SV TV
NS L1 L2 | L1 L2 | L1 L2 | L3 | L1 L2 | L3 | L1 L2 | L3
AC20C [41.5| 43 [41.5] 43 [41.5] 43 | 43 [41.5] 43 | 57 [41.5] 43 | 61
AC25C |55 57 |55 57 |55 57 | 57 |55 57 | 74 |55 57 | 76
AC30C |55 57 |55 57 |55 57 | 57 |55 57 | 74 |55 57 | 76
AC40C |72.5| 75 |72.5| 75 |72,5| 75 | 75 |[72.5| 75 | 95 |72.5| 75 | 99
AC40C-06|/77.5| 80 |77.5] 80 — — — — — — — — —
Wi [ S v SV L1 MIN 3T 55 A4 254U i Rt
RS L1 | L1 | L2 | L1 [ L2 | L2: I EZR I 2 M EAR I e 24 4L b i R ST
AC20D [41.5(41.5| 43 [41.5] 57 | L3: N2 HEZLENHEINMFEAAI R REAL ORI R
AC30D [55 |55 57 [55 74 | L4: B3 MFELRTIE AN eI AL O R )
AC40D [72.5]72.5] 75 |72.5] 95 | Wi dOLF %L R A, 2 ANER A,

@ -15-19



=SHATH
AC20~60

1]l A

FHRST. MRRZ LR R,

ISE30-01-0 0 -ML

— X465
ISE30-01-0 O -ML
MPa 01 1
MPa 0.001
DC12 24V 10 p-p 10
45mA 70mA

Rc1/8

AC200 | AC250 | AC30O0 | AC400 |AC4000-06) AC5000 | AC550 | AC60O

a 3
g Ya s " Y, /4 1 1

Ya 3/8 3/g Y, 1

AC3B0|[A —03||D — X465 A

20 | s
25 | Ya A NPN
30 3/g B PNP
40 1/, © 1-5V
50 3/4 D 4-20mA
55 1
60 1 ® (ISE30
[ )
C N.C. AC200 600
D N.O. AC300 600
[ )
01 | Ys
02 | a4
03 3/g
1 1)
04 I2 Q 2) Best Pnecematics
06 | 34 No.4(4 )P.524
10 1 3)
0
A
B
©
D

@ -15-20





